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(1) An increase in each of the following factors would normally provide a
subsequent increase in quantity demanded, except:

price of substitute goods

level of competitor advertising

consumer income level

consumer desires for goods and services

aand b
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(2) Consider the following multiplicative demand function where Qp = quantity

demanded, P = selling price, and Y = disposable income:

Qp=16P" Y?

The coefficient of Y (i.e., .2) indicates that (all other things being held constant):

a. for a one percent increase in disposable income, quantity demanded would
increase by 0.2 percent

b. for a one unit increase in disposable income, quantity demanded would
increase by 0.2 units

c. for a one percent increase in disposable income quantity demanded would
increase by 0.2 units

4. for a one unit increase in disposable income, quantity demanded would
increase by (.2 percent '

e. none of the above

(3) In the Cobb-Douglas production function (Q = L 'K %:
a. the marginal product of labor (L) is equalto 1
b. the average product of labor (L) isequalto 2
c. if the amount of labor input (L) 1s increased by 1 percent, the output will
increase by 1 percent
d aandb
e. aandc

(4) Which of the following statements concerning the long-run average cost curve of
economic theory is (are) not true?

b. it consists of the lower boundary of all the (infinitely many) short-run
curves

c. the long-run average cost of producing any given level of output, in
general, occurs at the point where short-run average costs are minimized

d aandb
e. aandc ,

(5) To maximize profits, a monopolist that engages in price discrimination must
allocate output in such a way as to make identical the in all
markets. ' '

a. ratio of price to marginal cost

b. ratio of marginal cost to marginal utility

¢. ratio of price to elasticity

d. marginal revenue S

e. none of the above (%ﬁmﬁﬁﬂa,ﬁiﬁﬁﬁﬁfg)
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If the economy is to remain in long-run equilibrium, what must happen to the price
level, the wage level, and the level of real GDP when the following events occur?

(1) An increase in government-financed highway construction.

(2) An increase in Japanese GDP that boosts U.S. net exports.

(3) An increase in the U.S. money supply.

(4) An increase in productivity caused by more use of computers(while the money

supply is constant).
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